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= 3,834,112 3,766,929 67,183
z 9,509,932 9,557,782 42,150
= 40,428 40,428 0
2|9 x4 6,391,242 6,299,881 91,361
= 62, 141 36,000 26,141
2 1,050,000 1,050,000 0
= 1,180,804 1,167,734 13,070
z 4,008,297 4,046,147 52,150
sope 2e 1,694,711 1,655,500 39,211
= 26, 141 0 26, 141
= 453,070 440,000 13,070
= 1,215,500 1,215,500 0
S2(EHZ)TIoH 39,211 0 39,211
= 26, 141 0 26,141
= 13,070 0 13,070
401 Al HIY 39,211 0 39,211
= 26, 141 0 26, 141
= 13,070 0 13,070
01 Al H| 39,211 0 39,211
OEHZ '20/IH' s 15
ga) 39,211 0 39,211
= 26, 141 0 26,141
= 13,070 0 13,070
EZS0/2MY 4,601,193 4,549,043 52,150
= 36,000 36,000 0
z 1,050,000 1,050,000 0
= 723,328 723,328 0
z 2,791,865 2,739,715 52,150
HESEINY 1,496,000 1,443,850 52,150
= 1,050,000 1,050,000 0
= 112,528 112,528 0
z 333,472 281,322 52,150
402 QI2HXHZ 0| 1,119,000 1,066,850 52,150
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= 0 1,498 A 1,498
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ozzegl 0 10,000 210,000
— ISR &AL 0 10,000 210,000
= 0 5,000 5,000
= 0 1,255 A 1,255
= 0 3,745 N3,745
OAN&ZHIRA Yl 0 40,000 240,000
— Mg EAT) o 0 30,000 30,000
= 0 15,000 A 15,000
= 0 3,764 13,764
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OfE &% 0 240,000 240,000
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HE 28 3t 860,000 877,000 A 17,000
= 0 17,000 A 17,000
= 500,000 500,000 0
& 67,500 67,500 0
o 292,500 292,500 0
ofItel Al 0 17,000 A 17,000
= 0 17,000 A 17,000
201 82| 0 17,000 A 17,000
= 0 17,000 A 17,000
01 AtR22t2ldl 0 17,000 A 17,000
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IR 0 575 A5T75
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= 135,000 135,000 0
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& 259,500 259,500 0
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oY ekl 1,757,690 1,257,690 500,000
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Dl 455,000 455,000 0
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o 559,190 559,190 0
SLES)Uh=E+ 500,000 0 500,000
= 500,000 0 500,000
201 82| 100,000 0 100,000
= 100,000 0 100,000
01 At 22l bl 100,000 0 100,000
Ogt=gH| 40,000 0 40,000

—HE 'R0l ¥ 'S HSMHI| =A
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